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Formeljoker
Lösung

Rechteck

A = a · b

u = 2a + 2b 

= (a + b) · 2 

d = �a2 + b���� 2����

a = �
A
b

�

b = �
A
a

�

Quadrat

A = a2

a = �A�A�����

u = a · 4 = 4a

d = a · �2����

Parallelogramm

A = a · ha

u = 2a + 2b 

= (a + b) · 2  

hb = �
A
b

�

a = �
h
A

a
�

b = �
h
A

b
�

rechtwinkliges Dreieck

A = �a 2
· b
����

u = a + b + c

c = �a2 + b���� 2����

a = �c2 – b���� 2����

b = �c2 – a���� 2����

hc = �
2
c
A
� �� � = �2 c

· A
����

gleichschenkliges Trapez

A = �(a +
2
c) · h
�

u = a + 2b + c

h = �a
2
+
A

c
�

b = �h2 + (�+ (�+ (�a
2
– c�)�)� 2����

a = �
2
h
A
���� – c

= �2A
h
– ch
����

c = �
2
h
A
���� – a

= �2A
h
– ah
����

Raute

A = a · h

u = a · 4 = 4a

a = �
u
4

����

A = �e2
· f
�

h = �
A
a

�

gleichseitiges Dreieck

A = �
a
4
2
� · �3����

u = a · 3 = 3a

h = �
2
a

���� · �3����

a = 2 · h
�

�3����
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D Algebra II
16. Umformen von Formeln – Lösungen




